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Figures 1A, 1B & 1C for Question 1
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Figures 2A and 2B for Question 2

Figure 2A: Life expectancy at birth: estimates and projections with and
without HIV/AIDS, 1970-2015
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2 Exciuding least developed countries.

Source: World Population Prospects: The 2002 Revision
CD-ROM (United Nations publication, Sales No. E.03.XIIL.8).

Figure 2B: Life expectancy at birth in the seven countries with highest HIV
prevalence, 1985-1990 and 2000-2005
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Sowrce: World Population Prospects: The 2002 Revision, CD-ROM (United Nations publication,
Sales No. E.O3.X1I1.8).
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Figure 3 for Question 3

Changes in land value over time in an industrial city
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Figure 4 for Question 4
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